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Write true or false

Apomixis 1s a phenomenon n which ovary devclopcd mlo a fruit without Ferulmlmn

CF Ses T Y
/Q‘P{ﬁﬁﬁan

Part—[ (Bofaﬁjr)

(Sy2rsy =g : %F@a ﬁ@w)

' rf

» e
Fungal association with roots of higher plants is called M
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Aquatic fern “Marsilea’ 1s an excellent biofertilizer
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tlow placenta 15 formed ?
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Explain the chromosomal theory of inheritance.
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What are the four features of genetic material 7

i

T WA DI T R o

State the symptoms of typhoid. : '
DRTRT (@eE TR TER =i ' : :

. 1
:
'

Vrite

O T A 50 4 TR A

- 5'ate the difference between (any twao) ;
TRIT EhTR e Fe

]
b4
2
i

Passive immunity and active immunity.
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Down’s syndrome and Tumer’s syndrome.
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Pritary succession and secondary succession.
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Follicular phase and Luteal phase of Menstrual cycle.
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Discuss tlie various means of prevention and control of Drugs and alcohol abuse.
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